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授業動画QR

1. 次の計算をしなさい。

   1( ) 4 + 32 2

 
 
 

   2( ) 6 - 25 5

 

   3( )  5 - 2 +3 3 3

 
 
 

 4( ) 7 + 3 - 5 + 26 2 6 2

 
 

 5( ) -50 18

= 5 - 3 = 22 2 2

 
 

  6( ) +12 27

= 2 + 3 = 53 3 3

 7( ) - -45 12 20

= 3 - 2 - 2 = - 25 3 5 5 3

 
 

 8( ) + -32 50 81

4 + 5 - 9 = 9 - 92 2 2

 

 9( ) 2 - - +20 50 8 45

= 4 - 5 - 2 + 3 = 7 - 75 2 2 5 5 2

 
 
 

 10( ) 3 - 2 + -18 27 12 32

9 - 6 + 2 - 4 = 5 - 42 3 3 2 2 3
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 1( ) 7 2  2( ) 4 5  3( ) 4 3  4( ) 2 + 56 2

 5( ) 2 2  6( ) 5 3  7( ) - 25 3  8( ) 9 - 92

 9( ) 7 - 75 2  10( ) 5 - 42 3  11( ) -
8

3

3  12( ) 3 -2 6

 


